Name:  ____________________________

Class: ______   
(A)
An outdoor swimming pool opens for 14 weeks each year.  There are two payment options:

Option 1:  You can pay $3 per visit

Option 2:  You can buy a season pass for $80 and pay $1 per visit 
1)  Write the rate of change (coefficient) for Option 1 and Option 2?   Y-Intercept?

Option 1 (Coefficient):
_________


Y-Intercept: _________

Option 2 (Coefficient):  _________


Y-Intercept:  _________
2)  What do the above (coefficient/y-intercept) mean in relation to these Options?

Co-Efficient:  ______________________     Y-Intercept:  _____________________
3)  Write a linear equation in y = mx + b for Option 1 and Option 2.

Option 1:

Option 2:

4)  When would both options cost the same?   (Use back if needed.)
5)  When would it be cheaper to use the first option?  

6)  When would it be cheaper to use the second option?
